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PART -~ T:MENTAL ABILITY TEST
1For Student af Class VI

90 Minuces M. Marks : 90

INSTRUCTIONS TO CANDIDATES

Read the follawing instructivas carefully Hefore van
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PLE

the questivn booklet,

Answers arc to he given in the OMR sinswer sheet

There are 9% questions in this hooklct. All are

campulsary.

Choose the eorreet answer froon the uplions given
for cach geestion and darken the corrspanding
circle with black hall pomt pen in the OMR
answer sheer.

Stoee the time allotted for this question paper is
very limited vou should make the best yse of it by
nut sperding toa much time sn eny voe question.

1€ xou da aot ke the answer tany auestion. <o
norwasee tme on il el pass an o the nexr nne. J
time permiis, yai ¢ come buack to the questions,
whicl yon Jeasve lefl in the fGrst iestanve s
atfenmpt them.

Rough work can be done anywhere) in the
Guesiiun bouklet but not in the OMR skﬂ' ! fuose
paper.

Each correct answer will be/asvarded one Wik,

PMlense retern the QMR Ansyer ;hcuonn to the
invigilator after cofipfetion gl the test. You can
retain the quutmn I}uuktus

Erglish version oft tl\c quesion paper will be
cunsidered sy f'l:.il R easeol any dispute arising
aut of yuridtion in craslated version,

Quute yourseven digit! Roll number withaut fail
for any fucuie. coerespdndence.

ASE TURN OVER THE PAGE AND START

ANSWERING
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In eaxch question, theé nurmbers !

letters are arranged in a sequence
basedd on certain principle. Sclect
the answer from  the  four
alternatives given under ecach
sequence to complete the series.

12, 32. 72, 132, —-em- —. 632
[y 352 2) 254
327 4) 312

8. 19,32, 47, -=cenm-

1) 64 1} 62
Hol 1) 66
1.5, 3 10,9, 24,27, 40, —---
1} 81 2) 80
3391 4) 67

{ l'. 1.2, 4, W 13. 24, 44, --—-- =
1) 75 2) 64
3181 4) 68
4.6, 8. 15, 16, 24, 32, 33. 64, —--4
[)64 2) 42

3) 55 4) 48
5,60,8,11, 1S, 20 —---

13 31 2125
3206 4) 16"

A C F IO, -1

o Hy/
3T W

Uu [‘--. \]\ ‘1, ------- c-w’

7z 2)Y
HX EVRY
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6.

g flipemm (lesT Tatr. 1o H60 8 suen)
Susrein  "URHICRYRIMAY -DlagRpasHY
TS & ST g @I afibuilam iy
sl snauSe Ol (B e sl

Qam@ssUul ST preng Lnmm)
silmLsefalimie  Wanieop  flanmey

Qainyt susns st sflumar aleLsmilg
Gambla@idenit.

1) 352 _3_,25;
3270 4312
81 19,. 32. 4?.‘--"-,——-..

1104 262
arol 466

1, 5/3, 1092027, 40, ----—
b8} 2) 80

3) 91 4) 67

DTN 2,4, 7,13, 24, 44, -—-—--

175 2164
st 4) 68
4.6, 8, 15, 16, 24. 32, 33, 64, ——-—
1) 64 2] 12
3) 35 4) 48
5,6,8 11,15, 200 -cuem-n

1) 31 2)25
3} 26 4) 46
A‘ C! Fc J 0 e — e e
Ny 2) U
Nt W
BB Y e

1) 7 2)%
)X 4) v
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Direction (Question Nao, 9 — 15) auflnanry (oflarr sremor.9 (e 15 suemr
The following yuestions consists of &1 annnnr L eflermds erfis
two wards  that have certain GlampE &0 HETar @)
velationship. Select the pair which sl empaatmL G Eomth
has the similar relationship from the Glgm mj o srengl. mGs muens
aiven four alternatives. GlETLLEILLW BTG BT 5605 66meT,

GanAE S GETer L6 Wby
sllenLsaflsblmEa Cor k05 H a0,

Ink : Paper:: - 9. Ink:Paper::
1) Pen : Pencil 1) Pen : Pencil
2) Paint ; Painting 2) Paint .+ Painting
3) Chalk : Black board 3) Chalk : Black board
4) Carbon paper : Ball point pen 4) Carbompaper : Ball point pen
Editor : Magazine @ @ cccmecae t e 10, “Editor : Magazine : @ cmceeee P
1) Novel : Writer 1) Novel r Writer
2) Poem : Poet 2) Poem : Poet
3) Chair : Carpenter 3 Chair : Carpenter
4) Dircctor : {ilm 4)y-Director : film
Child : Family @ ¢ ceeeee- -1 - 11:) Child : Family @@ ccemmee b e
1) Bird : Nest 1) Bird : Nest
2) Mother : Baby 2) Mother : Baby
3) Flower : Tulip 3) Flower : Tulip
4) Chair : Furniture 4) Chair : Furniture
Famine : Hunger : : =% Hede—s 12. Famine : Hunger : 1 —eeee t ceee
1) Pessimist : Dejeeted 1) Pessimist : Dejected
2) Stupidity : Faifure 2) Stupidity : Failure
3) Compound : \Mixture 3) Compound : Mixture
4) Fall : Step 4) Fall : Step
Lion : Cib ;¢ —-3-3 e 13, Lion: Cub: : weemee i coeeeean
1) Mother Child 1) Mother : Child
2) Mether > Aunt 2) Mother : Aunt
IyXunt D Child 3) Aunt : Child
4} ¥ather : rand father 4) Father : Grand father
Cow ; Shéd : 1 -—memem R I4. Cow:Shed:: —u} o
1) Dog : Den 1) Dog : Den
2) Snake : Burrow 2) Snake : Burrow
3) Rabbit : Hole 3) Rabbit : Hole
4) Horse : Stable 4) Horse : Stable
388/149—2s
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16.

18.

19.

20.

http://doozystudy.blogspot.in/
Eye: Face:: ———- Kitscmen
) Ring : Finger
2) Knob : Door
3) Stem : Root
4) Shoe : IFeat

Direction (Question No. 16 — 20}
There is some relationship between
two given wards, before the : ;. Find

the other word from the given
alternatives huving the similar
relationship.

BAC :DEF::------- : NOP

[) LKM 2) GIH

3 KLM 4) MKL

Mouse : Cat i Fly @ -—-—--

1) Mosquitoe 2) Bee

3) Spider 4) Rat

Brick : Clay : : Bread : =—--—-

1) Wheat 2) Cement

3) Milk 4) Salt
ZA:¥B:: XC -

NYZ 2)NM

3) BC 4) Wi

BACE : DACE : : FACE : ————/

1} HASFE 2} LACE

3) HACE 4) CASE

Dircction (Ouestion No./21 -30)

Find theOdd nran ont.

Cricket, Football! Hockey, Chess
1) Chess 2) Cricket
3 Hockey 4) Football

http://doozystudy.blogspot.in/

16.

17.

18.

19.

20.
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Eye: Face:: ——ea- i cceens
1) Ring : Finger
2) Knob : Door
3) Stem : Rant
4) Shae : Faot

suflemm {eflsor srsa:. 16 s 20 alenr)
Erhosm  efemaaas 2 @ &g (peT
o 6 Bl sunt &em & serflent G 5 Ememih
g1 Qaruiy asmrg 205 e
Qam uymiw  QuTmeEsLreT s

EUTIT & EMEBTLI GanG\dmiC (HsTsr
ETBET(, T 117 anenL &erladlay k&
GamblsGg®and.

BAC A DLEF : D5 s NOP

1) LKM 2)GIH

3VKEM 4) MKL

Mouse> Cat:: Fly § —oeeeen

1) Masquitoe 2) Bee

3) Spider 4} Rat

Brick : Clay : : Bread : -—-——-
1) Wheat 2) Cement

3) Milk 4) Salt
ZA:YB:: XC -

1) YZ PARMR

3 BC 4 WD
BACE : DACE : : FACE 1 cceen
1y HASE 2) LACE

3) HACE 4} CASE

suflipamm il araear. 21 (ipeyes 30 susay)
&Gy Glan(leésiul L smaimeils

ormin’ L eng SETEly & &0,

A &EQm!, mraukg), anréd, Qs

1) Qesiv 2) fifl&Gla
3) amr&H 4) &g
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22.

24,

[3*]
‘h

27,

29.

119, 131, 173, 211
1173 2)2
3119

L

4, 8, 17, 124
1) 4 2)8
3) 124 417

Carbon, Silver, Iron, Alumintum
1y Carbaon 2) Stlyver
3} Aluminiwm 4) lront

2TE8, 6257, 6318, TX(2
1} 6318 2) 2%
3} 6257 4} 75

Ganges, Krishna, Cagvery, Yaigai
1) Ganges 2} Krishna
3) Cauvery 4) Vaigai

Text book, Scencry, Magazine,
News paper
1) Magazine
3) News paper

2) Lext Book
4)Scenery

Einstein, Newton. Abraham/Kincoln,

Baovle
1) Boyle
3}y Abraham Lincoln

2) Newton

Deer./Goat, Shicep, Shepherd
1) Goat 2) Shepherd
3) Sheep 4) Deer

121, 169 176, 196
1176
3) 169

2) 196
4) 121

http://doozystudy.blogspot.in/

4) Einstein

1
iy

23.

24.

27.

28.

29.
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119, 131, 173, 211

1)173 2)211
3) 119 A4y 131
4, 8 17, 124

1)y 4 2)8
3y 124 4) 17

Carbon,Silver, Tron, Alunstininm
1) Carbon 2) Silver
3y Allmttaiwm 4) lron

2718,.6257 /6318, 7512

116348 2) 2718
3) 6257 4) 7212

Ganges, Krishna. Cauvery, Vaigai
1) Ganges 2) Krishna
3) Cauvery 4) Vaigai

Text book, Scenery, Magazine,
News paper
1) Magazine
3) News paper

2) Text Book
4) Seenery

Finstein, Newtnn, Abraham
Lincoln, Boyle
1) Boyle 2) Newton

3) Abraham Lincoln 4) Einstein

Deer, GGoal, Sheep, Shepherd

1) Goat 2} Shepherd
3) Sheep 4) Decer
121, 169, 176, 196

13176 2) 196

3) 169 4y 121

http://doozystudy.blogspot.in/
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33,

34

36.
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Dircetion {Question Na. 31 4()

Choose the most suitable answer

from the given four alternatives.

The unit digit in (264)"" is
16 2) 4
3)2 4)8

If 9548 + 7314 = 8362 + x then
xis

1) 8230 21 8410
338300 4) 8600

If 6x43-46y9 = 1904 then the
value of x is

1}5 2) 6

39 4) cannot be determined

The smallest 3 digit prime number iy
1) 100 2) 103
3101 4) 107

The number of even prime/number
is

1k o 2) 6
3) 10 410
If 7% = 2401, then x is
1)4 228
33 4) 33

I am seventh-in the queue from
cither'€nd. How many people are
there in-the quénc? '

2) 11

3) 13 4) 14

http://doozystudy.blogspat.in/
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37.
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auflepsnm (aflsr ranr. 31 W 40 alenT)
S0 Gor@ssiul BT TTang
el aell6GEg) SEE srilunsesns
Gl Folo (A FEnD.

(264" —g ailfailéd ssiry Seéas
6T 6571

nNo 2\4

H2 48

9548 + 7314 =8362 +~ x sronllsd
x iy

1) 8230 2y8410

3) 8500 4) 860

6%43 =46y9 = 1904 arefla)
x~air wdiiy

)5S 2306
Hoy 4 ) flismarudl s @lusor g

3@ uda WedF il (ET s
1} 100 2) 103
3) 1h 4) 107

@ sl liuenL T sTsoor gerled
sTeu suaFi6m

1 2) 6

3) 10 40

7Y = 2401 sreaflsh x—sir Aoy
1) 4 2)28
3H3 4) 35

@y opsaanfsiimhgnd  eTegbGun g
aflmally ErsT 7 sugl pui e,

suflsnaufayster  Glorks | puTsslsr
6T T 6551 L 6T e,

1) 10 N

313 4) 14
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38.

34,

4.

41.

If independence day of onr country
in the vear 2014 falls on Friday, oo
what day does the Repubtic day of
the year 2012 fall?
1) Sunday

3) Tuesday

’9) Mnnday
4) Saturday

The letters which appear in the word
TECONOMY' and not in the word
SECOND® are
DAMY
HEY

N M
4)CON

It vowels are left-out, which letter
would be the 10" consonant?

1N 1M
3HQ 4R

Direction (Question 41 - 45)
If 0 stands for 9,

[ stands for 8,

2 standds for 7,

3 standds for 6.

4 stands for 5,

3 stands for 4,

6 stands fof3;

T stands for 2.

8 stands for 1

9 stamds-for-d
find the value of *x* for the questions
41 to 45 by converting the numerals
to perform the required operations.

Arom-the given four alternatives.

If 12471 = x, then xis
1)-39 2) 59
34 4y 95

http://doozystudy.blogspot.in/

38.

39.

44,

41.
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g EMigs 2014 aunLsdu ssiET
dlarn Gleustaf&&lome raflas 20150
ST @hlplen HeoilD 61158 ETRED ?

1) spraflm) 2) BT

3) Llesusumiy 4) eenfl
‘FCONOMY"\ aampy  amigsagafiso
o drer wAQY \ CSECOND®  sairm
QIrT Geaggafl Gleieois sTipésid sen

1) M, ¥ 2) N, M

3 EY 4 C,N

Sl sripEisalay Vowel
sipgssemer  Badw 6T o e
consonant §7(L[ hiZ)cheh BT

N

Otptdsdi tulLmeb 10-sug: TUSS) 568
ETUOGE BT(h 0.

1) N 2} M

3Q 4R

eulfilupsnn elsorn sisszr. 41 (p&sh 45 susmy)
dparapin ailarrdaeafid

O s1601p 616001 9 D

1 eT5T) ST B Wh

2 wTstTen 67600 7 ILJLD

3 eredrm 676007 6 Wb

4 T6iTm T6dT 5 ujid

5 676077 676007 4 WD

6 sTetrm eTemT 3 Witk

7 ersiTm sTe5e 2 Wih

8 sretTm eremor 11ych

9 srair svedor O o) @ fldheBimey o1safled
Q&EnE&ESIUL(HETST 676 & s
Larplonfeir sysmeirst Glewaasns
GFiig) x—si wHlsmU [EreorE Wi
silsnLaeaflsblm8) Caibhshiasaa.

12 -71 =x emfisd x —sir &Y
1) 59 2) 59
3)4 4) 95

http://doozystudy.blogspot.in/



42.

43.

44,

45,

46.

47.

48‘

49,
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If 25+ 13 =x, then xis

1) 353 2) 38

3) 2153 4) 160

If 13 x 29 = x, then x is

1) 377 2) 156

3) 6020 4) 3100
HW5-3+9x8+4=x then xis
1) -2 2)2

3) 20 4) -1

If 84—-12+6x%x8= x, then xis
1) 128 2) 44
3) 100 4) 48

Direction (Question No. 46- 50)

If *x* stands for *+

‘+' stands for *~’

*+* stands for *x*

= stands for *=+'
find the value of *x’ from the given
four alternatives for the questions 46
to 50 by converting the operatiofis.—

If213 -3 +5 + 2 = x, thenxis

1) 353 2) 44
3)533 4).30
(163 x 37) = 10/X§ = =see-
1) 6031 2) 21005
3)25 4) 3981
R2+¥XT=THN+ cmemee
1)4 2)6

3) 27 45
5x2+3=12+ccmr =

1)8 2)1

3) 13 4)7

http://doozystudy.blogspot.in/

43.

44,

46.

47.

48.

49,
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25+ 13 = x svenflsw x—sir oy
1) 333 2) 38
332153 4) 160

13 %29 = x ersfled x - &1 iy

13377 2} 156

36020 4) 2100
S5-3+9x8+4=Xx\asild x-sn
Ly

1} -2 202

3)2¢ 401

84+ 12 #6 x8 =2 gMafla x—ar whHiy
1) 128 2) 44

3) 100 4) 48

aflupemn {ellesi s, 46 ypmey 50
SUGT T}

& pebvarts. allsonmaias oflsh

%Y gremrug) ‘+" we

= grarug) - w)h

s rs0r gy * X WD

‘= merugl ‘' Wi Ghl&dineg safs
Grweaamensm il (sir x-sir 10E\0s00
&6y CenbiasiulBenem mremE wimmi
sflenLsaflst E)mEg) CafkCahiamaa)n.

2133453+ 2 = x ereofls0 x—sdr oy
1) 353 2) 44
3) 533 4) 30

(163 %x37) =10 x5 =

1) 6031 2) 21003
3) 28 4) 5981
12—3)(-:.‘~r- | R RO
1)4 2)6

3) 27 4) 8
Sx2+4+3=12+ cmermen

1)8 2)1
313 47
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6+3=2 -1 X
18 -7
Hi 4) 1

Direction (Qhiestion No. 51— 53)
Arrange the alphabets given below
in escending order and answer the
questions 51 to 53,

Ko Xo B Py ECA Zo Lo DUQ: S

The letter which appears in the
middle is

ne HK

M 4) Q

The number of letters between
F and U is

)3 214

3)5 4) I5

[FDEEP = 10996 and SCEK = 4997
then SAKE is equal to\

1) 4170 2541079

3) 4189 3141179

Find the pgsition aof| the 47 Jetter
from the last, in complete listing of
2ll 26 lettors in ascending order.

1) 2ty ' 2)23

3) 221 421

Fhe sum of first 5 odd positioned
letters’in complete listing of all 26
letters in ascending order is

1) 24 2)26
3) 25 4) 30

http://doozystudy.blogspot.in/
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O6+3=2—-1% s
18 2 -7
i 4 11

suLflicpenry {afls:iiéanst 51 amh 53 alam)
Eipeor.  aufifiey  sgpHsSSmar
EimBIEm e ifiend s eufisnali iG]
silsoméaEst \51 e 53 ey
o st audpfie sflame wiefld meayp.
K.X,F.P,F, AN L. D, Q, 8

K@ef a g g

TP 2K
HM 4)Q

E wiimin U e16irm 6TU08 b s(Em e
@lent G weirer srSgidaeafisT
a16007 sa0f 1S 6m &

13 2)4

35 4) 15

DEEP = 109% umgud SEEK = 4997
sroufled SAKE srebrug stgmigé mun ?

1) 4170 2} 41079
3) 4189 4) 41179

Syhdles  TEPEBIGEST g HemSih
sprflmsfd olygwsSifih  Gurg
senl fuflellg b mTETETRIGTE @ s
stpSdla B

1) 20 2)23
3)22 4)21

SHER G (PHHIGEET  LEHETHENSILLD
symusuflemauilel L puweliGin Gurs smemm
@Gl » siem (pesh 5 erps S Sl
&n (BH60

1) 24 2) 26

3) 25 4) 30
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Direction (Question No. 56 -58 )
Read the given directions carelully
and find the answer fram the four
afternatives.

A is 20 meters south-west of B, and 36.

C is 20 meters south —east of B, Then
the direction of C with respect to A
18

1} East
3) Sonth

2) West
4) North

A man is facing towards east and 57.

turns 90" anti- clnckm;e ac.lm 9¢"
clockwise and turns 180"  anti-
clockwise. 1o which dirvection is he
facing now?
1) East

3) North

2) West
4) South

A boy walks 12 kms towards south
to reach A. From there he walhy 8
kms towards north to reach B/Then
he walks 3 kms towards ‘west |\ (o
reach €. The distance between the

starting point and Cis

1) 23 kms 2) 11 kems

3 20 kms 4)-3 kairs
Dircctiot {Question No. 39 and 60
Read the - given  relationships
carefully and._/answer both the
questions.

http://doozystudy.blogspot.in/
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surflipenm (afleom srenr.56 (L& 58 alen)
QamHlehd: L sn@(_pmg]&mm

salamors Ughs  Garbiésiul Gwre
i i el seiladle s atiurss
ailsmpau Qgfiay Glerliunb.

B-a&g Qe Gui@ Sameuflss 20 i
gIGHa A sEURIHE B -&wm
Qosrdgadds 20 Sloi grrida
STETUSHLD A simerenr i sTRIFIED,
A edlgpigs C-fir Slen wiig ?

) Hipég
3) @i

2reung
4 sul_

Sgéng Hmami Garbd) BHSEn B
GUF Sl (YT Buiigh Sars
sibidlmsds 90" HmiuBnrt. SanGin
90" doig iy uger @ity Semauiled
Sl Ge o8 @Jmm@m Henadg
gl Hanaiis 180" BmiouBmr sreolles
oeut HRGuI g Geréd Gn et Hos

Lo 2} Buhie
3) nnlBig, 4) GanG

am dAmesr Gane Crrsd) 12 &
meaLdlmres, (9w
SEAGhS aLsE Curad B &b
kg B BjenL s gqme,q,
Gl m g Gum@ Crrédl 3 &l mL G

C-m 2yemLSmsir srenf16b
synouBenfdnrg  C-&@ e
Qs mansoay

1) 23 &l 2) 1 A8

3) 20 H.E. 4) 5 &l

auflpsmn  (@femr_srer59 (pEd 60
ST

AarpéEsuu’ Gsrar Qg g
o soniithg) SpsanL  efleaTTEHe e
sflenLweflésa)a.

http://doozystudy.blogspot.in/



http://doozystudy.blogspot.in/

59.

60,

If the line I; is perpendicular to |,

and Iy is perpendicular to 1, in space,

then the relation between 1, and fyis

[y b is always perpendicular to 1y

2) [y is always parallel to I,

3} Iy is neither perpendicular nor
parallel to [;

4) cannot be determinced.

If A is a brother of B, und C is a
sister of A's futher then how is C
related to B?

2} Mother
4} Cousin

1y Grand mother
3) Aunt

Direction (Question No. 61465
Different regions are marked in the
following diagram:

Triangle indicates fmen,

Rectangle indicites employéd people
Circle indicates graduates,/also
assume the people-to be/either male
or Female/

On the basis of thyse- informations
answer-the questions 61 to 65
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ap( Gleuslufisd |, ersirpy CriGam(i

I; dugy Qlerug Z5: nimin [ GxiCan( 1y

ersiy GEiGor Ly fen Qe ss: s

I g 13-8 @snL Guwrar Gpiniy

T L Gerlarp | &@ siGlumigesin
Glarig He

2) | CriGan(y 1;die sd@umupgd
Bl ey b s

3) 1) GreGamil b
Carigsarasar Gemsorursdam
Blasang

Ay Eirunsoiaa @uinng

BUT B -ifler #8amrsui A, Cesn A—si
gzl gCarpfl C aafid, C
6Tt JeuT B-di rsvaunaullsh o may ?

Hunly 2) smi
3) S5 5 &) o _sordfimeur
gGamgf

auflipsmm (AT eradn, 61 (o6 65 el
&Gy G BersT usiGaumy ausneswmsr

U@ B eflerr iminsmudls)
alleorTE g i sflemL e Seyb.

WdGaTamE oy i eemené @05 EIma

QaFsiauad vsmflfls

2 aameur memsr @ il&Amay
allLy ulLgmfissmer @ Hadne
(BLiiseir oyer 1oboin G@ustor sy @,
ursler ggauiaen w_ GG e Clansie)
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63,

64.

66.
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ion ‘9" indic g sraT @GOG (HemaT L

The region '9" indicates 61, . ; ;
1) Employed Graduates 1 umﬂuﬂ@m.rm ul L :;_r,mﬂ‘asm e
2) Employed men graduates 2) U“’Pfﬂ&lb]m i\fbm‘ o o nﬂ:?ir
3) Employed women graduates 3) Uﬂmuﬂé}!l?‘;ﬁf_f Ugdf ULI-EI_ pos
4) unemployed women graduates 4) usssfufles Flevam Gluest ULL-S
The unemployed men graduates 62. uwﬂlu:ﬂsn &, 660 UL gmilsemer
indicates the region @G UGS
75 2)6 15 2)6
34 42 34 42
The cmployed non-graduate men 63 um(*:lui‘iai) agife . uCC smfhwmm
indicates the region oy s aRenaT GHIHEE UGS
)2 21 1)2 2) 1
36 4)5 ' 3} 6 4) 5
The employed non graduate yomen 64. Umﬁﬁlguﬁfﬂf Ll'..L.ﬂ';ﬂTf_‘UJLhm -
indicate the region(s) Quenaeim s GHHED UGSser
1) 3 216 )5 N6
3)Sand 6 4)4, 6 and 9 3ySibmmuwo 6 4) 4, 6 wimed 9
; ion “1° ; 1} gram @il s UL e LS
The region ‘1" represents 6S. Dk ' 1
1) Unemployed, non-graduate, Ty Lismfluinn uCLgnifiudn Gussaer

women 2) usaefludm UL STTLDD S ST
2) unemployed, non-graduatemen 3) Um'—'ﬂgllé“ﬁr ULnLTﬂﬁgﬂﬁ::‘:‘“
3) employed graduate men 4) vesflumhm UL L.gl Gl

4) unemployed graduate yomer

Direction {Question No. 66-70) L |
The following questiuns are hased on certain logic. Find the correct answer from
the given four alternatives:

suifiepenm (@derm steir. 66 (& 70 auenr) . i
Spasir.. aferraes SCH@ID HG GHmfau Qenssr @sierarm, QenBéasUuLsTsT
ety larim Al aeflsllpha eflwrrms GaiGshsea.

¥ 8
14 5
0 1t 2510 312 4) 16
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67.

68.

69.

70.
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1171 ?
P —
o 48
FA a7
== (=] -
1)9114 2) 1491 3) 6005

4) 6091

17

LS

1) 54 2)28 Ay46 4) 57
3 4 7
1 6 A
B 412 20 10
113 27 310 4) 27
4 15 3 13 5 4 4 2
3 2 3 2
o 2) 12 3) 35 4) 20

Direction(Question No. 71 — 79)

Fhe-first twoTigures bear a definite relation with each other. Bearing that relation
i mind \pick up the fourth figure from the four alternativ

same relation with the third as the second bears with the first.

sutfliipsam (efleorm sy aver.74 (LS 73 susmi)
Qsmbidsiu Qsrsr 3 silysaor @) 2 (TSI ST

&ouaflgg QAsrhssim Gerer
Cgm_msmLiw 2 RIS,
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& B Guuster Qpm_iismu merg
ysTnTeig 2 GaSHNEG GurGsrar 94Cs wuma
BT S wi! sflsL &Ml akg CoimesHEsmb.
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75. S
?
L°) o |o :

—3]
Q {0
1 2 3 3
76.
] [
°0Q/00(Te| oD
liﬁz 3 T
17.
wllle T
100
1 2 3 4
78.

N % o o A
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A ?
—|Ojgai|a

1 2 3 4

Direction {Question No. 83U — 82)
[dentify the 4™ figure based on the continuation of the first-three figuves.

eufipsmm (Afisor srsoar. 80 (&6 82 aismi)
Qampésiu GsTar apety o Gakasma geliumLres Garsur@ LrTsTams
mmaTee wirmn) aflenl semleSigpha Gaiiey Qalua)b.

A
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82.
S L S
1 2 3 4
Direction (Question No. 83-87)
Select the one which is different from other three fizures.
eulflygsmm (s srover. 83 (W&a) 87 susDA)
LarBssiu Qsmsr  Fravg e psvbsdlflnts CupulL Gn 2 @usns
GaimblsbEsnyn,
83,
i 2 3 4
84.
1 2 3 4
85' ' m
1 ? 3 +
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hito://doo.
T

studv..bloqsnot. i
7 ~ T

0
ool Ioo] |0 o] |
1 2 3 4
) - -
- -+ /
5 SR ¢
\ + s _
1 2 3 4
Direction {Question No. 88 -90) et penm (fleon et 88 (peih 90 euam)
Answer the following  questions eenr sy (ILESEmE Syip IUMLLITESS

based on the given information.

The mirvor
“STILL” is

1) TTIT®Z

3 Jarre

1) aTIK
3) 41T

image

of the word

2)'ITIL?

4 1TITS

The mirror image of “KITE™IS

2 I TN

) ETiN

IfSis « then Q is

1) Q
3) 6

)R
49 b

T
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88,

89.

Glsstm Glstra L{pamevor aflemTss (G
aflsmL el a.

SEHBLY 82000 Il i emesullair
G g, (ol

IyrriTe 2)71711Le
3IIITZ2 4) TTITS
“KITE" gr6tm sumigangiflssr
&enoremrmg LD

1) ATIK 2) ATIA

3) 3ITA 4 ETIX

S mEUS o ewikh  erin
1)Q 2) &

3 8 40
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NMMS EXAM MAT ANSWER KEY - 2015
eme EXPLANATION ANSWER
I 12+20=32+40=72+80=152+160=312+320=632 A
2. 8+11=19+13=32+15=47+17=64 1
3. 1x3=3 5x2=10

3x3=9 10x2=20 : § 1
9x3=27 20x2=40
27x3=81 A<D
4 0+1+1=2
1+1+2=4 N
1+2+4=7 @
2+4+7=13 3
5.
2
6. 5+1= 6+{éé¢‘§_§)+4— 15+5=20+6=26 3
i AFR=C+3¥F+4=]+5=0+6=U 2
8. [{ B+32E+5=1+7=Q+9=Y 2
I Ik : Black board 3
10. /(\\\ Director : film 4
11. >/ Chair : Furniture 4
12. 4~ Compound : Mixture 3
13. | QY Mother : Child L
14. Y Horse : Stable 4
15. Stem : Root 3
16. B+2=D L+2=N
A+4=FE  K+4=0 I
C+3=F M+3=P
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17 Fly : Spider
18. Bread : Wheat
12 Z-1=Y Atl=B X-1=W C+1=D
26-1=25 1+1 =2 24-1=23 3+1 =4
20. B+2=D F+2=H
ACE - common
21 ClFEN (2 61 siphs oﬂmmmm_é;i\\/
22 131,173, 211 (S&ufesr QUG LTSI
119 - BHuNerd) su@uU@ELD F7xI-119)
23. 4,8, 124 4 o460 UEUBLN, 7
17 (185,60 u@ULTS) (21, 63T
24. Carbon (2 voye
Silver (2 vowe
Iron (2fvo
Aluminium
23. 2+7=9 1+8=9
6+3=9  1+8=9
7+5=12 12+0=
6+2=8 5+(’%}A‘i G (B50gTems Geummeg))
20. an GTLOM6ETT L M))
(Bemomest gy mi)
ery (bermen sym)
(BeTD Gemmeumsn imi)
27. | Text book, Magazine , News paper @ubewpsirhigith
/~Seenery (backround set) @L bQuMILD
28. \\\) Einstein (@ifleMwesd SiMes])
/\/ Newton (siflefiued sifies)
Boyle (aifMailwesd SiMiEp)
Abraham lincoln(aiGwf&s wermdHug))
29
30. 11x11=121
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13x13=169
14x14=196 1
16x11=176
31. 3I(h&G DDLU 616 &G R6TMITLD QeV&EELD 4 2
32. 9548+7314=16862 = 8362+ 8500(16862-8362) 3
33. 1904+4639=6543  x=5  , \ 1
34. 101 L\ 3
3. 0 ’ 4
36. 7x7x7x7=2401 x—‘(\\\)
37. 6T60TSH (G (LDEITEUTITEL 2_6IT6r \§/
6TenT&@ LetTeuTmey o _enen
6+6=12+1 ’I'_F,ITG'GT/Q 4
38. LBV 15 &HHST SHleurld W &lLp6mLD)
gerallfl 26 GlgWing Hleor
e LUl L BTL &6
LBV =16
Q&L LbUT =30
215GLmuy=31
BHeULOLIT =30 23x7=161(Clex 6116l 3
lg FOLIT =31/~ 162(&F6vf))
0 6aT 6] = 163((Ebmuilmi)
Qs gh=es 164 (SIS 6)
39. W MY ; NM ; E,Y 23
40. |BC VKLMNPQRSTVWXYZ
1 \j678 910111213 141516171819 20 21 2
41. | 0=9 5=4
1=8 \/ 6=3 12-71=X
2=7 7=2 87-28=589 2
3=6 8=1
4=5 9=0
42. 25+ 13=X

http://doozystudy.blogspot.in/ http://doozystudy.blogspot.in/




http://doozystudy.blogspot.in/ http://doozystudy.blogspot.in/

74 + 86=160

13 X 29=X

86 X 70=6020

5-3 +9x8/4 =x
(4-6) +0x(1/5) =

4 —6=-2
1/5=0.2
0x0.2= 0 P

24+0=-2 ¢

87/3=29
15+29=4

44x1—

84+12/6 x 8 =x Q@
15+87/3)x 1= (‘é

213(9)3 ()5 =xy
213(/)2(;;)5 213/3=T1
71 x5=355
. =/ 355 -2=353

63 (x) 37 (-) 10 (X) 7=6031
6031-50=5981 g eummer eNenL)

163 (+) 37 (/) 104-)\S\=)163+37=200
=N 200/15 =13.3 (sflwrer eNenL)

12() 3 x) 787 )N
12 (x)3 (+) (-) 12x3=36
| 36+7=43
7 x 7=49
49 -6 =43

6(H)3=20(-)1%)
6(-) 3=20)1()
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2+1=3
3l KXFPEAZUDQS
@mmriE eufleng - ZXUSQPKFEDA
ZXUSO P KEFEDA pOeNed 2 érer srpsa P
5 5
22 ZXUSOPKFEDA
EWLOMIL UG QenLuiled 2. 6maT 6T(LDSSHIGSH6N >
53. | DEEP =10996 DEPS ¢
SEEK =4997 10 9 6
SAKE = 41179 Al
54 ABCDEFGHIJ KLMNO P Q TOV WXYZ
1234567 891011121314 1516 17 1 22 23242526
SHenL AUNeO\ (B H &) Dnmanm@ - w(23)
55. ABCD '
1 2 3 4
1+346+7+
56. N A\X
W+ E
: A
57.| N T m'\&mWw@b Hms - Ass
W+E EQ BN (WAL &ES afly Heng o0’ = QILES
S Biq Wem QURIGLD Seang 90° = SWNES
.-. GEM] (PETELES a8 Heng1s0° = GLD’ID@
38. N @gm@ Cpr&d BLEGLD QFTanevey = 12 &.18
W+E % QL &8 Cprsd BLEGL QFmenevey = 8 &8
CumM@ Crradl BLEGW gmanevey = 3 &
Qs =23
&\
39. Sjwneaflss @ueong
60. A—B &Cargrrsen

A—BeT heng FGaMHH = C
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B&® C 6T 2.mey = 3-[’&)66),@

0l. | A -gyewur&en
m - Ussliley o enenelsen
o -ULLGMHlGeN 9 €T60TSH
GIRIRTES
LeuonIuTleL @levevm GlU6TOT LILL TS &e)
62. UestLDD Q60T UL L STflsenenetsd GM&ESLD LI@';Q/__:W
63. ussfluflev 2 6mem UL STHumm L 6018Henes @M .,
64. | uesufed 2 éter LLLFTHWMHD QueTTSsmena ze_r; M@ﬁl&d‘l -
5 LOMMILD 6
05. |16Te01s GMISSULL (ReTen L&
LeNWImm UL L STFHINM L, 60018611
66. 14+5=19
14+8=19
67. 52 (-) 13 =39 )24 =63 --—--- 3963
28(-)17=1 2=T1 —=m-- 1171
37(-)23 = 48 (+) 43 =91 ——--- 1491
68. 13 (v N 29(-)17=12
41 (-)13=28
69. 8—4=4 4-3=1
12-6= 6 6—-4=2
20-10=10 10-7=3
4+1=5 5-1=4
6+2=28 8—2=6
10+3=13 13-3=10
70. | 4x4=16 3x3=9 Sx5=25 4x4=16
3%x3=9 2x2=4 3x3=9 2x2=4
_23 _13 __ 34 20
71. | Gerli@ésisa@sen 1:2 3:4
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T2. | Sevurewuimlg. 6THGTTOLIL (@L6eusv LomMMMLD) 2
73. GLlp&eT GQeuafllymld : GG 2 L DD (Qend LIHMIS) 3
74. | sieopspnd Qsiis W M o5 wrmib 3
75 & 6001680l 6THGTmefLIL (@L6auev LOMMHMLD) 1
76. &6out6uoTmlq. 6T&HGITmamLIL (@L&uev LOMMMLD) 3
77. | @Lium$ GsnmHmib A 4
78. | SOI&LDHEA QFILS M\\ 1
7. | 3:4  4:5 VYV | 3
80. @Leuev THOLD WHMID Cosd FLp Lnrrmmm/f\\\ 3
1. ALeuev LIHDLD HMID Ced &) Lnrrm@{“n\\\\)/ i3

22 12 6wl = GHIGHTEHILD 3 m S T6BUILD
6 et = GHIGSHTSTILD 9 RIG&T6woILD g

Va4
{3 3, 4 GeML(BSZIs00(h &6 gqsogﬁg@:\&‘@mm = (QUL_LLD 1
84. | eulLib,(p&CaNemh = SailE o (BQIRISET, DD =euenIUL LD 3
85. ULLD 1.2,4 &ML U@;#,]&Mm 3 UUGE 3
6. UL 1,2, 36V G&WQJS&NG&,QT

UL Lb 4 d3*4‘%€>rn'_@ggjsm@asm 4

87 UL 1,2, 3 6003 5% GOWEseT LMHOLD
Ly 60 g,ﬁrr&. 2_6Teng) 4
88. | seduewrmig. a@@gnﬁu\\s)} ILL=_1_11T2 3
89. | ety HQW\VI TE = =ITI>l 2
90. 2

&MeL &HLPMHE é\ug)}

uerefl wreweuy SLAFIWT HeLS G (L
2aymL & speirmiwl (b iHlemevLiLieTed],
GumeoLDLIL lg. LO(HRISTLYIS € 6TMIWILD.
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